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TRANSPORTATION ENGINEERING
PART-I
Praffre v 14da ) [Srfiremew ot : 30
Time allowed : %2 Hour] [Maximum Marks : 30

qr . (i) wiavT s € od new el sE g o
Note : Al Questions are compulsory and each question is of 1 mark.
(i) o et F s g B Rafy & st srar g A o

Only English version is valid in case of difference in both the languages.

1. WEw ®t v A R W Wt ofee
e & e ¥
(a) wndReeT 3w
(b)  Rroe e
© &I
(d) ¥eta

2. -y O i ) e gt ot
(a) 1934
‘(b) 1938
(c) 1947
(d) 1950

3,  wEw v e v o ¥
(a) Sheer STt Frera % R
(b) o T ¥ g
(c) qfkgfr%ﬁﬂ'!

(@ v

The part of road on which motor
vehicles moves

(a) Cycle track

(b) Farmation width
(¢) Footpath

(d) Carriage way

Indian rpad congress is established on
(a) 1934
(b) 1938
(c) 1947
(d) 1950

Camber in the road is provided for
(a) effective drainage
(b) for centrifugal force

" (¢) for sight distance

(d) none of above
| P.T.O.
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4,

10.

TR 3 ST R e e e &
(a) 3iree iy

(b) @ i

(¢) iafer mmer afly

(d) wHg-arer Ty

TTw

(a) s e
(b) warEd fe
(c) YT e
(d T & B

I G welt & s e ST &
(2) =for wderor

(b) Furg ey

(c) weor qdiegor

(d) Tred g adeor

CBR 2% # CBR %' ¥ fre7 g9 W

T P e &

(a) %96 2.5 mm
(b). ¥4 5.0 mm
() ¥ 7.5mm

@ 25mmTS5.0mm IR

WEFH T ARt
(a) Frepwys

- (b)) AW

() g=A U
d) wT

;%gaénﬁ sriie} o v o ot vl

@ 30m
() 60m

® S50m
@ 70m

A 5T 367 Y B AR gl ¥ siEt

et Rt & o et g ﬁeﬁ 13
(@ 1.676m
b 1575m
© 1.979m
d 1375m

@

10.
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Enoscope is used to find
(a) Average speed

~(b) Spot speed

(c) Space mean speed
(d) Time mean speed

. Dead slow is a/an

(a) Regulatory sign
(b) Warning sign
(c) Informatory sign
(d) None of above

Los Angles testing machine is used to
conduct

(a) Abrasion test

(b) Impact test

(c) Attrition test

(d) Crushing strength test

In CBR test the value of CBR is
calculated at following penetration

(2 2.5 mm only

(b) 5.0 mm only

() 7.5 mmonly

(d) both 2.5 mm and 5.0 mm

Bottom most layer pavement is
known as ‘ ‘
(a) Wearing course

(b) Base course

(c) Surfacing

(d) Subgrade .

The distance between two abutments
in major bridge is
@ 30m
(¢c) 60m

®) 50m
d 70m

In Broad gauge the horizontal
distance between two parallel rail is
(a 1.676m

) 1575m -

©) 1979m

(d) 1.375m~
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8 A & HeT 1S B TS TR T
(@ 12m,12m
) 12m,13m
© 13m12m

@ 13m,13m

12.

13.

14.

18.

16.

17.

AR H AR S FIHTIET 6 e &
(@ M+28M+7

) MEM+2

(©) M+5¥M+10

d M

8t M 3o 92l Y weg e ¥
Ui T iRk ) g @ sififea s
e F forar s €

(@ 25mm (b) 40 mm
(¢) 50mm (d 10mm

o e 3 el & fao wam fen
e &

(a) THE F WIW

(b) CST-9 W

(©) REwIw

(d) A whw

™ Yl % WY W I # gEH
WRTIET Tl et &

(@ 1:1 ® 15:1

© 2:1 @@ 1:2
frror =7 b R et &

() ¥ % P sgee W

) el B wEERg A R

© mﬁ'ramhmls}wm#

@ ;‘xmwaﬁaﬁ#ﬁw

I W A TR R & e e
! TR S

(a) EWEFRE

(b) wHIERT | AT R/

© % (@) T ()

@ =Y HET
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14.

15,

16.

17,

(©) 50mm @

(@ 1:1 (b)
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Standard length of rail for broad

gauge and ometre gauge are
respectively

@ 12m,12m

b) 12m,13m

() 13m,12m

(d 13m,13m

Sleeper density in India is normally
kept

(a M+2toM+7

b) MtoM+2

c) M+5toM+10

d M

Where M is Rail length in metre

The nominal size of ballast used for
point and crossing is
(@) - 25mm (b) 40mm

10 mm

Dog spikes are used for fixing rail to the
(a) Wooden sleeper :

(b) CST-9 sleeper

(c) Steel sleeper

(d) Concrete sleeper

Side slope of embankments for a
railway track is generally taken as :
1.5:1
© 2:1 @ 1:2

Triangle is used for
(a) Changing the direction of

enging
(b) Transferring wagons

(c) Separating all siding and
shunting :

(d) Preventing the vehicles from
track

To ensure exact gauge, the gauge tie
plates are provided at

(a) toe of the switch

(b) nose of crossing

{c) both (a) and (b)

(d) none of above

P.T.O.‘
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18,

19,

20,

21,

22,

23,

iﬁ%aﬁzﬁxmmmﬂ»‘ﬁm
g fea wmen &

(a) #aE

(b) . fafe Pam

(c) TNIT

d) T

. U T RvE ol W o W o @
st ¥ e ¥ |

(a) TCIE RYW

(b) T RIA

(c) i RYA

@) uRERIE
ﬁqﬁrfﬂﬂﬁwﬁqm%%ﬁmﬁwﬁ
£ R R S

(@ 55m (b) 65m

(¢ 7.5m (d 85m
[oT § gt 6 Frdt ¥ foe v @ e
e TG oIt &

(@ 1:500 (b) 1:300
() 1:250 (@ 1:350
g fae $ 0w T e
(a) & (b) e ‘
() &~ d w=

IRC % FFER oTE ot Sifuwaa Sier
w R sy

(@ 185m b) 244m
(© 38lm  (d 4712m

e ¥ quEa ue @ wqfed
0 F A e v wE
2

v
@ 73R
V2

- ) 73R

(5.

(0.75 V2
© "T137R
\
@ 2R

18.

19.

- 20.

21.

2.

23.
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To test the slope at curves on rail
track is used ,

(a) Cent board

(b) Sprit level

(c¢) Claw bar

(d) Jim crow

A railway station’ where rail track
ends is called
(@ Terminal station

(b) Flag station

(c) Block station
(d) Side station

The height of centre of arm of a

semaphore signal above the ground
(@ 55m () 65m

¢ 75m d B85m

For the drainage of water minimum
slope is kept in tunnel

(@ 1:500 ®d 1 :300

() 1:250 @ 1:350
Background colour  of informatory
sign broad is

(a) Red (b) Yellow

(c) Green (d) White
Maximum width of a vehicle as
recommended by IRC is

(a) 1.85m (b) 2.44m

(© 38lm

d 472m

In lequilibrium necessary  super

‘elevation required to counter act the

centriﬁxgz;l force is given by

v
@ 373R
v2 .

® TR

!0.75 Vzt
© 127R

V2
@ TR
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25.

26.

27.

28.

29.

30.

fie a8 vEs ¥ Sl oo B e
W skt ot & |

(a) it Y

(b) WaAwTEE

(c) iR

@ frfyer et Yo & waefys

uﬂwwwmmmﬁmim |

weETA
(8) JE
(b) o
(¢ Peraga

(d) e T e

wqﬂg&ﬁﬁtaﬁft

(a) T ®) T BT WE W
(b) W H AT

(c) % AT |

(d) ST W

Wl T \aﬁzﬁﬁﬁ‘%ﬁmﬁ?ﬁt
(a) 2

(b) 4

© 5

d 6

% foilt s e e ¥
(a) 1600R
(b) 1700R
() 1750R
(d) 1850R

Rt

(a) W TRET AT
(b) gt frcel} wddin
(c) S

(@ wE?

S S

®
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The shape of the camber, best suited

for cement concrete pavement is

(a) Straight line

(b) Parabolic

(c) Elliptical

(d) Combination of straight line and
parabolic

Coefficient of friction is less when
the pavement surface is

(a) Rough

() Dry

(c) Smooth and dry

(d) Smooth and wet

The stopping sight distance depends

“upon -

(a) total reaction time of driver
(b) speed of vehicle

(c) efficiency of brakes

(d) all of above

Number of bolts pet fish plates is
(@ 2
®) 4
© 5

@ 6

One degree of curve is eqmvalent to
(@) 1600R '
(b) 1700R

(c) 175%0R

(d) 18%R

The most economical lighting layout
which is suitable for Narrow Road is
(a) Single side lighting

(b) Staggered system

" (©) Central lighting

(d) None of above

PT.0.
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TRANSPORTATION ENGINEERING
P ART-N

Fraifter v dm ) [ftrae s 70
Time allowed : Three Hours] [Maximum Marks : 70

He . (i) merwr e sfErd & vw 5§ @ e ol B ger 2

Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) HF 7% B o) 4T B HHAR T Y & BT | ’

Solve all parts of a question consecutively together.
(iii) HeE T¥ %1 73 7 & ARET ST |
Start each question on a fresh page.
(fv) 31 amrait & s w17 @1 Refer 7 sinott srpr ot s 1

Only English version is valid in case of difference in both the languages.

1. 9 ¥ IR e

Answer in brief :

0 =g
Sight distance

. () R o ieor

Conning of wheels

(iii) T e
Negative cant

i) | i witar

Pot sleeper

) W famer
Departure signals (2x5)

' ©®)
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2. () UEF WM ¥ N W AU W U GEF T ¥ et fRihed |

Describe the importance of road transportation and write the characteristics of
road trarisportation. .

(i) W For & Wi T w1 aoi SRR |
Describe the historical development of road construction. (3+3, 6)

3. @) ﬁmm%mmw*mm&mﬁmm%mﬁwt

ferr et ool wifed 1
Write the different types of traffic control divices and explam the different types
of traffic signs with neat diagram.

(id) Wﬁmmmw%vmﬁsﬁmmﬁm#mm
e |
What is California Bearing Ratio (CBR). Explain the method of finding CBR
value in laboratory with neat sketch. - (343,2+44)

4 @) P e S ¥ e e P v o e |

Wite the name of different types of bndges and explain any one with neat
sketch.

(i) Tt W wEgar & W o § 2 et W o 9 smayasaret w waee |

What are the advantages of uniformity of gauges ? Explain the requirement of an
ideal permanent railway. | (3+3,3+3)

5. () o7 dered e o wnd v ol done ) R faRed |
Explain the functions of good ballast and characteristics of good ballast.
(i) Tordor & o e e § 7 & o @ A w9 Refl s
What do you underst;nd-by creep ? How can you measure and correct it 7 (3+3, 24242) -

6. () Yor v (wurd ) & s 2w i e |
_ Explain cross-section of railway track of permanent way with sketch.
(i) = aer w9t & 7 ferr wrER wHenR | |
What is use of turn table ? Explain with neat sketch. (6,24
P.T.O.
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7. () o e W e v |

8b

| Explain differeht type of points,
(i) ol ¥ sraveror we TEirERer @t e § s |

Explain in detail the maintenance and renewal of Rails.

Write the short tiotes on the following :
Q) el wEw
Indian road coh‘gress
(i) e wite o
Aufomatic block system
() @R
Terminal station -
(iv) Gt & dare A

Necessity of ventilation of tunnelé

2011

(6+6)

(3%x4)



